
【Even sharing part】

【Income basis part】

【Reduction image seen in pension income】
【Example of married couple home 
　(For the pension income 800,000 yen or less 
　about the wife). 50 ％ reduction

50 ％ reduction85 ％ reduction90 ％ reduction 20 ％ reduction

Pension income2.38 million yen0.8 million yen 2.11 million yen
1.925 million yen

1.68 million yen
1.53 million yen

Profit of ability
(Income basis part)

respondent profit
(Even sharing part)

○ All insurants of the long life medical care are reduced by 90 ％ for the pension income 800,000 yen or less (There are no other 
     various kinds of income) among homes that receive 70 ％ reduction of an even sharing part.
○ It is assumed to be uniform 8.5 ％ reduction to receive 70 ％ reduction of an even sharing part in 2009 fiscal year. 

○ Income basis part of low income (From the annual income 1.53 million yen to 2.11 million yen concretely) is reduced by 50 ％

about 1.1
mil. people

Insurance reduction of long life medical care (FY 2009)


